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Name: …………………………………

Class: 12A…
I. Mục đích yêu cầu:

1. Mục đích:



+ Nhằm giúp học sinh ôn tập hệ thống lại kiến thức đã học đến giữa học kỳ I.


+ Hướng dẫn học sinh làm quen với các dạng bài có trong kỳ thi.

2. Yêu cầu:



+ Học sinh cần có sự chuẩn bị trước: tự xem lại ngữ pháp, từ vựng đã học, làm đề cương có kèm theo giải thích.



+ Học sinh cần học thuộc lòng các cấu trúc ngữ pháp, từ vựng, chú ý cách phát âm các từ.

II. Nội dung:

1. Pronunciation:

- The pronunciation of the ending ‘s’, ‘ed’, of some Vocabulary related to topics of  Unit 1,2,3

- Stress in two-syllable, three-syllable, more than three-syllable words.

2. Vocabulary: 

- Related to Unit 1,2,3.

3. Grammar:

- Tenses & the sequence of tense









- Subject – verb agreement

- Reported speech 













- Articles
- Subjunctives 
       + demand/ request … that + S +( should) + V/ be + P2
       + It is imperative/ important … that + S + ( should) +V / be + P2


- Conjunctions

- Verb forms (V/ To V/ V-ing) / Ving/ having PII/ PII


- Word form 




     - Quantities  

4. Reading: Topics of Unit 1,2,3
- Read the passage, choose the best answers

- Read the passage; choose the best option to fill in each blank

5. Writing:

- Choose the best sentence which is rewritten from the given one.

- Combine the pairs of sentences using relative pronouns, conjunctions …

- Find out parts of the sentence which need correcting

PRACTICE TEST 1

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 

1. A. diagnosed 
B. distinguished 
C. passed                 D. launched
1. A. mission 
B. gossip 
C. boss
D. jobless 

3. A. amputate 
B. alive  
C. impact                 D. talented 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

4. A. impact 
B. inspire 
C. decide 
D. prefer

5. A. stimulate 
B. amputate       
C. determined 
D. talented

6. A. considerate 
B. priority 
C. influential 
D. experience

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

7. The Beatles ____ in 1970 and its members followed their individual careers.


A. fell out 
B. got over 
C. let down 
D. split up 

8. While I ____ to work this morning I ____ an old friend.


A. went / meet 
B. am going / met 
C. go / was meeting
D. was going / met  

9. Richard Byrd was ____ first person in history to fly over ____ North Pole. 


A. the / a 
B. the / Ø 
C. the / the 
D. Ø / Ø

10. When she (come) tomorrow, we (swim) in the pool.


A. come /will be swimming     
B. will come/ will be swimming


C. comes/ will be swimming  
D. will come/ are swimming

11.           Emperor Quang Trung was          second emperor of 
      Tay Son Dynasty, reigning from 1788 to 1792.


A. The/a/the
B. X/ a/the
C. X/the/ the
D. X/the/X

12.He will take the dog out for a walk as soon as he ______ dinner.


A. finish
B. has finished
C. will finish
D. finishing

13. The kids ____ to get up this morning. It ____ and it was cold, and their bed was so warm. 


A. don't want / is raining 
B. are not wanting / rains


C. weren't wanting / rained 
D. didn't want / was raining

14. A large number of reporters ____ at the meeting yesterday.


A. being 
B. were 
C. are 
D. is

15. Gia Long had to 
  many difficulties in his early life, as he became the target of rival groups attempting to wipe out the Nguyen clan completely.


A. deal
B. cope
C. encounter
D. surpass

16. Much progress ____ been made in recent years.


A. have 
B. has 
C. having 
D. to have

17. The new teaching method is supposed to ____ students' creativity.


A. dedicate 
B. inspire 
C. stimulate 
D. distinguish 

18. Five thousand pounds ____ stolen in the robbery last night.


A. being 
B. were 
C. are 
D. was

19. A new campaign has already been ____ by all high schools in the district to help disadvantaged children go to school. 


A. stimulated 
B. achieved 
C. launched 
D. determined 

20. Almost everyone _______ for home by the time we arrived.


A. leave
B. left
C. leaves
D. had left

21. I ______ Texas State University now.


A. am attending       
B. attend
C. was attending      D. attended

22. When Bill Gates saw an opportunity to found his own company, he dropped ____ Harvard without finishing his course.

    A. into
B. by
C. around
D. out of

23. Steve Jobs’s work stimulates my creativity and                          .


A. movement          
B. innovation         
C. determination  
D. decision

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

24. From humble beginnings, sales have rocketed and are set for further high growth in the next three years. 


A. promising 
B. poor
C. impressive 
D. unexpected 

25. The wound had become so infected that the doctors had no choice but amputate the soldier's arm.

 
A. cut off 
B. bring around 
C. recover 
D. replace 

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

26. In recent years, Madonna has continued to tour, release albums and engage in humanitarian work.


A. throw oneself into
B. become uninvolved in  C. have a hand in
D. take part in

27. We strongly believe that he's innocent of the crime. We do not think that he did it.


A. crimeless
B. skillful
          C. clean
        D. guilty

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.

28. - X: "What's the problem, Harry?"

      -Y: “____.”


A. No problem

B. No trouble at all 


C. Thank you for asking me about it 
D. I can't remember where I left my glasses 

29. - X: "What kind of TV program do you like best?" 

      - Y:“ "____.”


A. I like them very much
B. I only watch them at weekends  


C. It's hard to say, actually 
D. I'm too busy to say 

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions 

30. The Vietnamese is hard-working, intelligent and brave.

       A                       B                              C                 D

31. While the workers stood on the scaffold, it suddenly collapsed. 


        A
        B                               C

   D

32.In the latter half of the nineteenth century, physical techniques making it possible to determine the chemical constitution of stars.


A. latter half
B. making it             C. to determine
D. of stars

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

Donald John Trump is the 45th President of the United States, in office since January 20, 2017. (33)      
 to being a politician, he is a successful business magnate and television personality as well.  The son of a wealthy real estate developer, Trump attended the Wharton School of the University of Pennsylvania before taking (34) 

of his family's business. He owned several beauty (35)   
 and  ventured into (36)     
television  as  well.  Expanding the (37) 
of his ambitions, he entered national politics in the early 2000s and set his eyes on the presidential office. Asa politician, his career was marred by allegations of sexual misconduct and he also earned much criticism for his extravagant lifestyle and controversial comments on immigrants from Islamic  nations.

	33. A. In addition
	B. In contrast
	C. Apart
	D. Other

	34. A. steps
	B. charge
	C. measures
	D. advantages

	35. A. pageants
	B. competitions
	C. tests
	D. examinations

	36. A. realistic
	B. true
	C. actual
	D. reality

	37. A. scale
	B. scope
	C. horizons
	D. amount


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions 

David Beckham is an English footballer who has played for Manchester United and Real Madrid, as well as representing his country 100 times. He moved to the Los Angeles Galaxy in 2007 to increase the profile of football in America. He married Spice Girl Victoria Beckham and has become a worldwide celebrity, an advertising brand and a fashion icon.

Beckham was born in London in 1975. His parents were fanatical Manchester United supporters. His talent was obvious from an early age and he signed with Manchester United on his fourteenth birthday. He helped the youth team win several trophies and made his first team debut in 1995. He helped his team achieve considerable success in his eleven seasons with them.

Beckham has been runner-up twice as world football's best player. He won many trophies with Manchester United, including the Champions League, and won a league title with Real Madrid. He also captained his club and country. He was famously sent off in a match against Argentina in the 1998 World Cup. In 2003, Beckham received an honour for services to football from Britain's Queen. 

Beckham has many interests off the soccer pitch and is rarely out of the headlines, especially concerning his marriage and children. He has established football academies in Los Angeles and London. In 2006 he was named a judge for the British Book Awards. He lives near Tom Cruise and the two are best buddies. Beckham is also a United Nations Goodwill Ambassador.

38. What is the main idea of the reading passage? 


A. The life and career of David Beckham 




    B. Beckham's family background

    C. Beckham's life before and after getting married



    D. Beckham's marriage with a Spice Girl's member 

39. According to the passage, Beckham has played 100 times for ____.

   A. Real Madrid





B. Manchester United 

   C. the national team of America 


D. The national team of England 

40. The word "fanatical" is closest in meaning to ____.

   A. inspired 
 
B. enthusiastic 

C. realistic 


D. idealistic

41. When did Beckham receive the royal award for his contribution to football? 

  A. In 1995 


B. In 1998 


C. In 2003


D. In 2006

42. Which of the following is NOT mentioned about Beckham? 

  A. He contributed to the success of the youth team of the Manchester United.

  B. He made England lose the match against Argentina in the 1998 World Cup.

  C. He was voted one of the best football players of the world more than once.

  D. Some of Beckham's interests are not related to football.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 

43.John has played the guitar since he was twelve. 


A. John has started to play the guitar since he was twelve. 


B. John began to play the guitar when he was twelve.


C. The last time John played the guitar was at the age of twelve. 


D. It has been twelve years since John played the guitar. 

44. My father hasn‘t smoked cigarettes for a month.


A. It‘s a month since my father last smoked cigarettes.


B. It‘s a month ago that my father smoked cigarettes.


C. It‘s a month that my father hasn‘t smoked cigarettes.


D. It‘s a cigarette that my father smoked a month ago

45. The famous actor was last seen in 2000.


A. The famous actor has not been able to see since 2000.


B. No one has seen the famous actor since 2000.


C. The famous actor didn‘t see anyone in 2000.


D. No one saw the famous actor until 2000.

46. Mr. Brown bought this car five years ago.


A. Mr. Brown started to buy this car five years ago.


B. It has been five years when Mr. Brown bought this car


C. Mr. Brown has had this car for five years.


D. It is five years ago since Mr. Brown bought this car.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

47. Some citizens believe that protecting the environment is the responsibility of the government and organizations. They don't have to take any actions.

  A. Some citizens believe that protecting the environment is the responsibility of the government and organizations; therefore, they don't have to take any actions. 

  B. Some citizens believe that protecting the environment is the responsibility of the government and organizations, but they don't have to take any actions. 

  C. Unless some citizens believe that protecting the environment is the responsibility of the government and organizations, they don't have to take any actions.

  D. While some citizens believe that protecting the environment is the responsibility of the government and organizations, they don't have to take any actions. 

48. Mike's uncle is interesting. He always has stories to tell us. 

  A. Because Mike's uncle is interesting, he always has stories to tell us. 

  B. While Mike's uncle is interesting, he always has stories to tell us. 

  C. Mike's uncle is interesting as he always has stories to tell us. 

  D. Mike's uncle is so interesting that he always has stories to tell us.

49.We have been friends for years. It is quite easy to share secrets between us.

  A. Be friends for years, we find it quite easy to share secrets.

  B. We find it quite easy to share secrets, being friends for years.

  C. We have been friends so that it is quite easy to share secrets between us.

  D. Having been friends for years, we find it quite easy to share secrets between us.

50. You are spending money recklessly. Others are saving.

  A. You are spending money recklessly, so others are saving. 

  B. You are spending money recklessly, for others are saving. 

  C. You are spending money recklessly, but others are saving. 

  D. You are spending money recklessly, or others are saving. 

PRACTICE TEST 2
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 

1. A. how 
B. shout 
C. low 

D. count

2. A. play
B. train
C. nation

D. urban

3. A. here 
B. fear
C. clear

D. where 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

4. A. urbanize
B. develop 
C. labourer 

D. industry 

5. A. request 
B. vital
C. urban

D. crucial

6. A. imperative 
B. desirable 
C. essential 

D. popular

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

7. The boss insisted that Sam ____ at the meeting as he is too talkative for such a confidential project. 


A. not be 
B. isn't
C. was

D. is

8. The organization's                      goal is to gain a strong position in the European market.


A. short-sighted 
B. long-term 
C. short-handed 

D. short-tempered 

9. The fans proposed that they ____ there when G-Dragon gets off the plane. 


A. be standing
B. stood 
C. should have stood 
D. were standing

10.More and more people are migrating to                 areas to look for better job opportunities.


A. crowded 
B. quiet 
C. urban

D. spacious 

11. It is recommended the candidate ____ take as many IELTS mock tests as possible before going for the real exam, which cost nearly $250.


A. takes 
B. should  
C. must take 
D. will take 

12. Urbanization has resulted in                  problems besides the benefits.


A. major 
B. serious 
C. few 
D. massive 

13. Loyalty is key to a ____ relationship.


A. long-lasting 
B. deep-rooted 
C. short-term 
D. far-sighted 

14. People should be tolerant of other cultures; they should be more ____.


A. half-hearted 
B. light-hearted 
C. open-minded 
D. single-minded 

15. Everybody is _____________ that his younger brother passed the TOEIC test the last day.


A. surprised              
B. surprising
C. surprise
D. surprisingly

16. More and more people are moving to live in the city in search of better ____ prospects. 


A. occupation 
B. job 
C. career  
D. work 

17. The                   between Vietnam and China is good.


A. friends
B. friendly
C. friendliness
D. friendship

18. These days, most young people would like to look for ____  jobs rather than secure ones.


A. long-term 
B. well-paid 
C. fast-growing 
D. long-lasting 

19. In                    , there are other religions.


A. addition 
B. additionally
C. add
D. addiction

20. I don‘t think Jill would be a good teacher. She‘s got_____ patience.


A. some
B. few
C. little
D. all

21. People migrate to urban areas on a massive ____ for many reasons.


A. scale  
B. level 
C. extent 
D. number

22. Although the government has taken certain measures to protect elephants,                  threats remain for them.


A. too much
B. numerous
C. some
D. a few

23. We live in the ________on the corner. 


A. brick house old large 
B. large old brick house 


C. old brick large house 
D. brick large old house

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 

24. A smart sustainable city will meet the needs of present and future generations with respect to economic, social and environmental aspects.


A. in addition to 
B. according to
 C. with regard to 
D. with a view to

25. As cities grew more crowded, and often more impoverished and costly, more and more people began to migrate back out of them.


A. well-off
B. rich
C. penniless
D. fertile

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

26. Urbanization is the shift of people from rural to urban areas, and the result is the growth of cities.


A. maintenance 
B. movement 
C. transposition 
D. variation

27. The best hope of' avoiding downmarket tabloid TV future lies in the pressure currently being put on the networks to clean up their act.


A. expensive 
B. famous
C. poor quality 
D. uncreative 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges 

28. X: “I saw a film about Africa on TV several weeks ago. It's really hot there, isn't it?"

      Y: “____” 


A. Certainly not.
B. I've been there. 
C. Not all the time. 
D. Next month. 

29. X: "How did your father go to France? By plane or by ship?" 

      Y: “____” 


A. I don't know. 
B. Why not? 
C. To Paris. 
D. To go sightseeing. 

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions 

30.Do you mind to travel such a long way to work everyday?

    A                       B                          C            D 

31. Because of severe asthma attacks, the doctor suggested his patient to stop smoking.

  A


         B


 C

             D

32. Overpopulation and negative effect of it has been major concerns in cities all around the globe.




     A

               B                     C


D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

AIR POLLUTION

Air pollution is a cause of ill-health in human beings. In a lot of countries, there are laws limiting the amount of smoke which factories can produce. (33) _______ there isn't enough information on the effects of smoke in the atmosphere, doctors have proved that air pollution (34) _______ lung diseases. The gases from the exhausts of car have also increased air pollution in most cities. The lead in petrol produces a (35) _______ gas which often collects in busy streets surrounded by high buildings. Children (36) _______ live in areas where there is a lot of lead in the atmosphere cannot think as quickly as other children and are clumsy when they use their hands. There are other long-term effects of pollution. If the gases in the atmosphere continue to increase, the earth's climate may become warmer. A lot of the ice near the Pole may melt and may cause serious (37) _______. 

33. A. However 
B. Although 
C. Therefore 
D. Because 

34. A. gets 
B. does 
C. makes 
D. causes 

35. A. dead 
B. powerful 
C. poisonous 
D. harmless 

36. A. when 
B. which 
C. where 
D. who 

37. A. floods 
B. storms 
C. earthquakes 
D. volcanoes 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions 

If “suburb” means an urban margin that grows more rapidly than its already developed interior, the process of suburbanization began during the emergence of the industrial city in the second quarter of the nineteenth century. Before that period the city was a small highly compact cluster in which people moved about on foot and goods were conveyed by horse and cart. But the early factories built in the 1830's and 1840's were located along waterways and near railheads at the edges of cities, and housing was needed for the thousands of people drawn by the prospect of employment. In time, the factories were surrounded by proliferating mill towns of apartments and row houses that abutted the older, main cities. As a defense against this encroachment and to enlarge their tax bases, the cities appropriated their industrial neighbors. In 1854, for example, the city of Philadelphia annexed most of Philadelphia County. Similar municipal maneuvers took place in Chicago and in New York. Indeed, most great cities of the United States achieved such status only by incorporating the communities along their borders.

With the acceleration of industrial growth came acute urban crowding and accompanying social stress conditions that began to approach disastrous proportions when, in 1888, the first commercially successful electric traction line was developed. Within a few years the horse-drawn trolleys were retired and electric streetcar networks crisscrossed and connected every major urban area, fostering a wave of suburbanization that transformed the compact industrial city into a dispersed metropolis. This first phase of mass-scale suburbanization was reinforced by the simultaneous emergence of the urban Middle class whose desires for homeownership in neighborhoods far from the aging inner city were satisfied by the developers of single-family housing tracts.

38. Which of the following is the best title for the passage? 

   A. The growth of Philadelphia

        B. The Origin of the Suburb

   C. The Development of City Transportation       D. The Rise of the Urban Middle Class

39. The author mentions that areas bordering the cities have grown during periods of ____.

   A. industrialization 
B. inflation

C. revitalization 
D. unionization

40. The word "encroachment" is closest in meaning to ____.

  A. the smell of the factories 


B. the growth of mill towns

  C. the development of waterways 

D. the loss of jobs

41. Which of the following was NOT mentioned in the passage as a factor in nineteenth-century suburbanization? 

  A. Cheaper housing 



B. Urban crowding 

  C. The advent of an urban middle class 
D. The invention of the electric streetcar 

42. It can be inferred from the passage that after 1890 most people traveled around cities by ____.

  A. automobile

B. cart 

C. horse-drawn trolley
D. electric streetcar  

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

43. The majority of the students in this college are from overseas.
  A. Everyone in this college is from overseas.

  B. No one in this college is from overseas.

  C. Few students in this college are from overseas.

  D. Most of the students in this college are from overseas.

44. “I have just seen your mother this morning”. Laura said to Lewis.

  A. Laura told Lewis I have just seen your mother this morning.

  B. Laura told Lewis she had just seen his mother that morning.

  C. Laura told Lewis she has just seen his mother that morning.

  D. Laura told Lewis he had just seen her mother that morning.

45. He gave us and his classmates a lot of help in the study.

  A. He gave many help to us and his classmates in the study.

  B. He helped us and his classmates a lot in the study.

  C. He offered much help in the study to us and his classmates.

  D. They were given a lot of help in the study by him.

46. Some children give a great deal of thought to their future work.

  A. Some children think a great deal of their given work.

  B. Some children’s future work is given to them.

  C. Some children think a great deal of their future work.

  D. Some children thought a lot of their future work.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

47.Since I had not seen him for ages, I didn’t recognize him.

  
A. Not having seen him for ages, I didn’t recognize him.

 
B. Having not seen him for ages, I didn’t recognize him.

  
C. Not seeing him for ages, I didn’t recognize him.

  
D. Seeing him for ages, I recognized him.

48. We couldn't get a seat. We arrived quite early.


A. Because we arrived quite early, we couldn't get a seat.


B. If we had arrived early, we could have got a seat. 


C. Although we arrived quite early, we couldn't get a seat.


D. We arrived too early to get a seat. 

49. When Tom had repaired the car. He took it out for a road test


A. Having repaired the car, Tom took it out for a road test.


B. Reparied the car, Tom took it out for a road test.


C. Reparing the car, Tom took it out for a road test.


D. Having taken the car out for a road test, Tom had repaired it.

50. I haven't got any milk left. I must go and buy some.


A. I haven't got any milk left, but I must go and buy some. 


B. I haven't got any milk left, or I must go and buy some.


C. I haven't got any milk left, for I must go and buy some. 


D. I haven't got any milk left, so I must go and buy some.

PRACTCE TEST 3

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 

1. A. rehear
B. appear
C. realize 
D. peace 

2. A. researcher
B. energy 
C. number 
D. death

3. A. damage 
B. regional
C. growing 
D. energy

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

4. A. natural
B. disposal 
C. habitat 
D. neighborhood 

6. A. technology 
B. conservation 
C. initiative 
D. environment 

4. A. deplete
B. delay
C. climate 
D. remove 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

7. The city council is discussing a detailed ____ plan for maintaining clean beaches and parks.


A. activity 
B. action 
C. measure 
D. approach 

8. To ____ green is to practise simple green lifestyles, which helps save the planet for further generation. 


A. go
B. act 
C. make
D. get 

9. It is advisable that people start using ____ products. 


A. environment-friendly
B. friend-of-environment 


C. friendly to environment 
D. friendly environmentally 

10. Unless we stop                     , a lot of species will lose their habitats. 


A. development 
B. reforestation  
C. improvement
D.  deforestation

11. “I'd like you to tell me the truth,” Lara said. ( Lana wanted _______ her the truth.



A. I to tell
B. me to tell
C. me telling
D. me tell

12. People should adopt a green lifestyle               conserve the natural resources.


A. helped 
B. help 
C. to help 
D. helping 

13.You need to work harder; __________, you’ll get fired.


A. otherwise 
B. moreover
C. instead
D. however

14. Organic vegetables are considered healthier ____ their high price.


A. although 
B. despite 
C. in spite 
D. regardless 

15.You’ll gain the victory__________ you have a strong will in your mind.


A. until
B. as long as
C. as well as
D. unless

16. Sometimes people just focus on the ____ benefits without thinking of the environmental risks of certain economic activities.


A. long-term 
B. short-lived 
C. immediate 
D. potential 

17. She not only works hard _____has a good relationship with all her workmates.


A. since 
B. as
C. but also
D. so

18. We reuse bags, old clothing and scrap paper at home ____ we can reduce waste.


A. lest
B. in order to 
C. for fear of 
D. so that 

19. It is hard to say whether Hemingway ______ Fitzgerald is the more interesting cultural icon of his day.


A. or 
B. and
C. not
D. but

20. Animals that are raised on ____ organic pastures provide organic meat. 


A. verified 
B. certified 
C. varied
D. censored 

21. She asked me where I _______ from.

 
A. come 
B. coming 
C. to come
D. came

22. Cars have become much more complicated. ______, mechanics need more training than in the past.


A. Therefore
B. So that
C. Because
D. For

23. Neither Mrs. Rose ________ Mrs. Wood was available for conference yesterday.


A. nor
B. or
C. but
D. so

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 

24. She was a devoted teacher. She spent most of her time teaching and taking care of her students.


A. polite  
B. dedicated
C. lazy  
D. honest 

25. The air in this city contains a lot of harmful gases, which may do harm to the citizens.


A. dangerous 
B. beneficial 
C. toxic
D. wasted 

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

26. Global Forest Watch has also initiated a project to counteract deforestation through awareness.


A. introduced
B. commenced
C. launched
D. completed

27. Cigarette butts are not biodegradable and contain extremely toxic soluble chemicals.


A. venomous
B. deadly
C. endangered
D. harmless

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges 

28. - X: "Would you do me a favour?" 

      - Y: “____”


A. I would.
B. With pleasure. 
C. I don't know if I can. 
D. What is the favour?

29. - X: “It's a beautiful day today! How about a little trip out into the country?"

      - Y: “____”


A. That sounds great. What should I do for the preparation? 


B. I don't know. I really haven't thought about what we'd do. 


C. Well, would you like me to pack picnic or to buy something?


D. It's all right. That sounds like a good idea. 

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

30. Her mother ordered her do not go out with him the night before.

                             A                   B                      C                       D

31. She said that the books in the library would be available tomorrow.
               A                           B                        C                          D 

32. Despite he worked hard, he did not win the first prize.

            A             B         C                       D
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks. 

INTERFERING WITH NATURE

Climate change is caused by the (33)     
high levels of dangerous chemicals in the atmosphere, particularly  carbon  dioxide.  It  is  estimated  that  average  global  temperatures  will rise (34)             between two and six degrees by the end of this century. We all know the effects could be catastrophic, but are we (35)            of the possible solutions?

Crazy as it sounds, a group of academics from British universities is making a plan to build a 12-mile pipe, held up by a huge balloon, that would pump (36)       
quantities of toxic chemicals, such  as Sulphur dioxide, into the atmosphere. Surprisingly, there is good science behind the idea. The chemicals would form a (37)        layer around the Earth that would reflect sunlight and so cool the earth, much like the effects of a volcanic eruption.

	1. A. absolutely
	B. extremely
	C. interestingly
	D. repeatedly

	2. A. by
	B. with
	C. for
	D. in

	3. A. able
	B. capable
	C. aware
	D. fond

	4. A. great
	B. enormous
	C. extreme
	D. absolute

	5. A. protecting
	B. protected
	C. protective
	D. protection


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions 

Scientists believe that something very serious is happening to the Earth. It is becoming warmer. Scientists predict that there will be major changes in the climate during the 21st century. Coastal waters will have higher temperatures. This will have a serious effect on agriculture. Farmers will have trouble producing good crops. In warm regions, the weather will be too dry. The amount of water could decrease by 50 per cent. This would cause a large decrease in agricultural production.

World temperatures could increase from 1.5 to 5.6 degrees Celsius by the middle of the 21st century. And the increase in temperature could be even greater in the Arctic and Antarctic regions. A rise in temperature could cause the great ice sheets to melt, which, in turn would raise the level of oceans by one to two meters. Many coastal cities would be underwater. Why is all this happening?

The Earth and its atmosphere are kept warm by the Sun. The atmosphere lets most of the light from the Sun pass through to warm the Earth. The Earth is warmer by the sunlight and sends heat energy back into the atmosphere. Much of this energy escapes from the Earth's atmosphere. However, some of it remains. Gases such as carbon dioxide, ozone and water vapor absorb this energy and create more heat. Then, this heat is sent back down to Earth, and the Earth becomes warmer.

Recently, however, an increase of carbon dioxide in the atmosphere is causing serious problems. Too much carbon dioxide in the atmosphere prevents heat energy from escaping. Too much heat is sent back down to the Earth, and the amount of carbon dioxide in the atmosphere continues to increase. When oil, gas, and coal burn, they create large amounts of carbon dioxide. The destruction of rain forests that absorb carbon dioxide also helps to increase the amount of carbon dioxide in our atmosphere. Some scientists believe that the amount of carbon dioxide in the air will double by the late 2000s.

Scientists call this warming of the Earth and its atmosphere “the greenhouse effect”. A greenhouse, made of glass and plastic, is a special place where plants are grown. The sunlight passes through the glass or plastic and warms the air inside. The heat inside escapes very slowly, so the greenhouse remains very warm. This is exactly what is happening on the Earth.

Another reason why the Earth is growing warmer is because of the amount of ozone in our atmosphere. Ozone is a form of oxygen. In the upper atmosphere, very far from the Earth, a layer of ozone helps to protect the Earth from 95 percent of the harmful light that comes from the sun. If your skin receives too much of this light, you would develop skin cancer. We need the ozone layer to protect ourselves. But the ozone layer is in trouble. Scientists have observed that the ozone layer is becoming thin, and above Antarctica there is a hole. This allows too much of the sun's dangerous light into our atmosphere and makes the Earth warmer.

38. Which of the following will be one of the consequences of a warmer earth?


A. Crops will be poor unless they are grown in the green house. 


B. The amount of water will be decreased by half. 


C. Farmer will get into trouble because of the heat. 


D. There will be no winter on earth. 

39. A rise in temperature will be more remarkable ____.


A. in the Arctic and Antarctic regions 
B. in the coastal cities 


C. by the year 2050 

D. under the great ice sheets

40. It is obvious that ____.


A. greenhouses are responsible for the warming of the earth 


B. what is happening on the earth is comparable to what happens in a greenhouse


C. greenhouses should be banned to prevent the warming of the earth 


D. things wouldn't be so bad if greenhouses were not made of glass or plastic 

41. How useful is the ozone layer?


A. It protects the earth from the harmful radiation from the sun. 


B. It absorbs much of the carbon dioxide. 


C. It sends the extra heat energy back into space and thus keeps the earth cool.


D. It helps treat skin cancer. 

42. Which is the best title for the passage?


A. The global warming 
B. The greenhouse effect 


C. The heat energy 

D. The change of climate in the poles

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 

43. “Please don't tell anyone what happened," Ann said to me.


A. Ann said to me please don't tell anyone what happened.
   


B. Ann told me didn't tell anyone what had happened.


C. Ann said me not to tell anyone what happened.




D. Ann told me not to tell anyone what had happened.

44.I usually drive to work, but today I go by bus. 


A. Although I can drive to work, I go by bus today. 

    B. Although I can go by bus, I drive to work today. 

    C. Instead of driving to work, I go by bus today. 

    D. Instead of going by bus, I drive to work today.

45. “If I were you, I'd tell him the truth,” she said to me.


A. She said to me that if I were you, I'd tell him the truth.


 
B. She will tell him the truth if she is me.


C. She suggested to tell him the truth if she were me.




D. She advised me to tell him the truth.

46.You should take regular exercises instead of sitting in front of the television all day.


A. Taking regular exercises is better than sitting in front of the television all day.


B. Sitting in front of the television all day helps you take regular exercises.


C. Sitting in front of the television all day and taking exercises are advisable.


D. Don't take regular exercises, just sit in front of the television all day.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

47. He did not remember the meeting. He went out for a coffee with his friends then.


A. Not remember the meeting, he went out for a coffee with his friends.


B. Not to remember the meeting, he went out for a coffee with his friends.


C. Not remembered the meeting, he went out for a coffee with his friends.


D. Not remembering the meeting, he went out for a coffee with his friends.

48. Working part-time helps students learn how to budget their money. It also helps them improve their time management skills. 

   A. Students should work part-time to learn how to budget their money and improve their time management skills. 

   B. Learning how to budget their money and improving their time management skills help students work part-time. 

   C. Working part-time helps students not only learn how to budget their money but also improve their time management skills. 

   D. Besides learning how to budget their money, students improve their time management skills after working part-time. 
49.I read the report through twice. I can't make out what he's trying to say.


A. I read the report through twice but I can't make out what he's trying to say.


B. I read the report through twice and I can't make out what he's trying to say.


C. I read the report through twice though I can't make out what he's trying to say.

 
D. I read the report through twice nonetheless I can't make out what he's trying to say.

50. I haven't got any milk left. I must go and buy some.

    A. I haven't got any milk left, but I must go and buy some. 

    B. I haven't got any milk left, or I must go and buy some.

    C. I haven't got any milk left, for I must go and buy some. 

    D. I haven't got any milk left, so I must go and buy some.
